@ James is standing 10 meters away from Samantha.

e Samantha are standing.

‘ﬁc-/f #33 (C’amf,)

‘ Lisa is 800 meters om the dase of a mountain From wihere she stands. abe measures. g
. . angle of elevation o the peak of the mauntan 1o 9e 38 She nen walks to e base of the

i mountain and measures the Bew AU of clovation, this time wethng 44

i

How far is Lisa from the peak of the mountain when she s standing at its base?

: Round your answer to the nearest meter
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. A bird is located in the sky at g po'in:_t between where James and

James is looking up at the. bird at'an angle of elevation of 740,
Samantha is looking up at the bird at an angte of elevation of 470,

. “ S Approximate!y how far is the E_ird‘?rom"Samantha?

4 A 7.6 meters

B 8.5 meters
C 11,2 meters
D

13.1 meféré'




@) Juan and Romella are standing at the seashore 10 miles apart. The coasthine is a straight
Y line between them. Both can see the same ship in the water. The angle between the
caastline and the line between the ship and Juan is 35 degrees, The angle between the

" coastiine and the line between the ship and Romella is 45 degrees. How faris the ship
~from juan?

§ e s a1

j
fack is on one side of a 200-foot-wide canyon and [ill is on the other. Jack and jill can both
ST 1 see the trail guide at an angle of depression of 60 degrees. How far are they from the trail
puitde?
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_ i+ Tom, Dick, and Havry ave camping in thew teats. If the distance between Tom and Dick is
‘L 153 feet, the distance between Fum and Harry is 201 feet, and the distance between Dick
(1 and Harry is 175 feet, what is the angle between Dick, Harry, and Tom?

Three boats are at sea: Jenny one ([1), Jenny two (§2), and Jenay three (13 The crew of

J1can see both 12 and |3, The angle between the line of sight to |2 and the line o sight to
3 is 45 degrees. If the distance between [T and )2 i 2 miles and the distance between 1
and 1315 4 miles, what is the distance between |2 and J37



